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② roll two 6-sided dice

Sum is 7 or 11
success

* = # successes in n = 10 rolls

W#tprobability of success

in one roll

P(( = 5) = ((j)p(l - p)

=
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Repeat 20 times

# = # blackjacks

P(-2)



~robability of blackjack
A 10/5/Q/k
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T2)=
=1 - P(x = 0) - P(z = 1)

= 1 - 18(0 .
048)% 0
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= 1 - 1 . (1)(0 .
374) - 20(0 . 048)(0 . 393)
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① Roll 6-sided die 100 times,

(a) Estimate probability 4 occurs

0 and 15 times
between

# = # of 4's in 100 rolls

Estimate P(0 -** 15)

n = 100

p =
1rob of 4 on 6-sided die

np = 100 · -=
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P(o = = (S)
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-ng(l -p)

= P( 4 ,470&

= #(- 0 , 45) - E(- 4 . 47)

= (1 - #(0 . 45)) - (1 - E(4 , 47)
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= (1 - 0 . 6736)
=4
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① Flip a coin 3 times .

# = # tails .

Draw #

Draw P(= k)

Calculate ECE)

Calculate
Var(E) and 5.
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P((= k)

1

-
+ (2)(z) + (3)(v)

= 1 .
d



E (2) = (0)(y) + (1) " (5)

+ (2)(z) + (3)(j)

=

Var() = E(zY - (E[E))
= 3 - (1 .

5)2

= 3- 2 .
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